Fer — 12 a9 Fger i ud g Jafe— 3.15 €S quiidh— 56
1. Ot TG JIPIR —
P9 SR PR PINNGI
1. Bkl 16 28.57
2, TSI / JAUT 21 37.50
3. STHIYANT / STt 11 19.64
4, PIeTeT / HifeTdhdT 8 14.28
I | 56 100 gferera
2, gl B YPR TG JHIR —
39 el & UHR gl DI AR | 3 Ui UH | fet 3fd | Ulowd | |eIad
T
1, G / TG A edTcHD - - - _ -
2, SrfeTeTRIcHS 13 01 13 2321 |30
3. TLARTHD | 11 02 22 3928 |64
4, TLRTHAD | | 03 03 09 16.07 | 26
5, feaeT® 03 04 12 2142 | 50
30 56 100 170 f9c
fadhed JISTT : JATARD RGBT — 10 A
3. fava o a1 AHUR — g3 U3 Uga— 15 e
B4, TPTS PR gfcrerd
1. C—9NT & SYINT ¥ Slel IdR 20 35.71
2. Jfeotde NRues ST vy C++ 16 28.57
3. Rele Screg Hoide Rived 20 35.71
4,
5,
Bl b R 56 100 gferera

U —UF Bl Uy




AR| ¢ k2K RlbbEL +

ARIDI3
IR DI @ k2K Ml IRD | [ble b [ M3Ib & bXlb — Db — lkinllz kb hodl]
(0€)9s (€)8 (h)11 (o1)1z (ev)9L Lk RD
(og)es | (¥ | (Ve OIRROL @v | (W | Wz | (99 9zr | (W1 - (€)9 | (o1)ou
9
G
b
(voz | (Wy | (Ve (W Wz | () (o) (W (Ve (02 B3R 2hiokh RBIRS bIakY] €
++0
(Do () O e | (@ (W2 | (92|  inli byl sohye 2bielie | 2
(z1)oz (e HOL Wz | (e (@r (4 (99 | 23 1212 R Likhe & lhik—)) )’
VS | IVS | B TvS | IvS | Be VS | 1vS | Be TvS [ IVS 21N
LI B e | ey Be Qe | bk Llie B Llie
Ll bl /LI bpjioigie / Yelzhipls Ripbie kLS Sle3 ho /Blb3 Rase he
96 — @llnh Zl—13d LIt ph lblIalE 3oknd — RRb|




Jod AreAAe WNIET "isel 99 U5—2018
SENIOR SECONDARY EXAMINATION,
MODEL QUESTION PAPER-2018
e UINRIaT g g
Computer Technology & Programming
¥wH (Optional)
9T 3%, "gue
quri—56
el & forv am fAder—

GENERAL INSTRUCTIONS TO THE EXAMINEES:
1. el YL Y U U WX AMih Jfarid: ford |

Candidate must write first his\her Roll No. on the question paper
compulsorily.

2. ¥ g A Ifard € |

All the questions are compulsory.

3. UAd U BT SR, &l T3 ITR—YRADHT H B ol |
Write the answer to each question in the given answer- book only.

4. 51 gt ° afafRe @ve 8, 59 99 & SR U 1T o ford |

For questions having more than one part, the answer to those parts are
to be written together in continuity.

5. U U & fE=l 9 3MUSH wURRT § {6l gabR &1 Ffe /=R /
fOREM 8 W 2= 9197 & U3 &I 98l A |
If there is any error\difference\contradiction in Hindi &English version
the question paper, the question of Hindi version should be treated

valid.
6. GUg g GxT IPp gAH Yo
3 1—13 1
g 14—24 2
g 25—27 3
28—30 4



Part Question Nos. Marks per question

A 1—13 1
B 14—24 2
C 25—27 3

28—30 4

7. U hHIP 28, 29 T 30 H 3<RP fdhey 2 |

There are internal choice in Q.No. 28, 29 and 30.



Yus—3]
PART-A

YI9—1. ST IETFR T 8 7 1
What is data stracture ?

Je—2. TT AT & Y 7 FHerd € 7 1
What do you mean by data merging?

U3, QeI TIRSH A 39 R A & 2 1
What do you mean by Algorithm?

UeT—4. W RAT & ? 1

What is an array ?

UeI—5. NfRR 9 YR &1 SIfeerdl &I 8 2 1
What is the complexity of leaner search algorithm?

g6, ReT | 8 °? 1
What is String?

Uo7, SRNICH 9T ® 7 1
What is inheritance?

Jed—8. R 3TURE Bl GRHINT HIFY | 1

Define New operator ?

ge9—9. SQL &1 QX1 -4 ferfy | 1
Write full name of SQL.

Te9—10. <A I B oI DI F HHAVS BT YA G © 7 1

Which command is used to create table?
U3—11. Tl T gTioTSdd DBMS Software BT ATH foIRgU | 1

Write the name of any one commercial DBMS Software?



qoi—12. Rere=ldm @1 g ?

What is relationship?
U99—13. Week Entity BT Uil d-I1T |

Draw symbol of week entity.

Yrs—q
PART-B

UeT—14. USRNIRH DI AT & & SUR AT & 7
What are the method of algorithm efficiency?
UT—15 GeI JATURTA T § ? Ao quie B |
What is push operation? Describe with diagram.
Ted—16. AT FT T ?
What is sorting?
gea—17. T8l 3T 3ifRex & M faRay, [T 3aRalrs T8l &) Fdhd & 2

Write the name of any two operators which cannot be
overloaded.

g3i—18. fevgder =1 8 ? 2

What is Distructor?

JI9—19. Ao Ul s=oRed T & ? 2
What is Multiple inheritance?

U99—20. ISTEX0T Afed First Normal Form &I IRy PHINTY | 2
Define First Normal Form using an example.

y3i—21. Sl 99 fgTR | 8 ? 2
What is Database trigger?



Te9—22. DCL ¥ SUINT 3 el HHIVST & A feIRay | 2
Write name of DCL Commands.
ged—23. PL/ISQL & faff=1 97 iRy | 2
Write different parts of PL/SQL.
Uei—24. C UG C++ |INT H 3R TR | 2
Write difference between C & C++ language.
Ggres—4
PART-C
ge—25. foids foRe & &1 BRI g & Jhar fofkey | 3
Write any two advantages - disadvantages of linked list.
Ue—26. Tgderk 9 JA H &I 3R TR | 3
Write any two difference between Structure & Union.
Ue—27. E-R ASd & Ui & Afa FHEsy | 3
Explain symbols of E-R diagram.

YGus—q
PART-D

Y99—28. Merge Sort BT IETEXVT Afed FHSSY | 4

Explain Merge Sort with an example.
3dT/OR

Bubble sort ®T SSTEXUT AfRd W@I

Explain Bubble sort with an example.

ge—29. fOff =T UOR & ®gidl IR HT S8RVl Afd 9uid diforY |

Describe control structure using examples.



3IAdT/OR

P Fex MNAST Bl fIR A I afed G918 |

Explain constructor overloading using programme.

YI9—30. ARHITSOIY UfhaT Bl IeTexvl dfed fadR & gqesy |

Explain Normalization process using examples?
31qdT/OR

The! Sl Bl E-R NG YaRid HIfY |

Draw E-R diagram of school database.

IR GRhT

Answer Key



Yrs—3f

ST BT Uhiad 3R IMATT B BT dRIbT 2

2 | U B YBR & Tl Sl IgFR B dcdl bl IS PR 1 2
U T Sl FFaR I

3 | TenReM e &1 vah uRfAd de ® S Us Af¥ad 1 2
BRI DI QR B @ fog fordl Sl @

4 | 9wy Ser Il & uRMd B4l BT Th 9US © 1 6

5 | O(n+l) 1 38

6 |RST IRAT ¥ U IR Pdxk W 2 | D o # 1 24
NULL @Rdex BIT & |

7 | RGOS BeR & gRT Ugel ¥ IR Tl A 78 1 157
FATT g9 D1 Ufehar

8 | g JATRex YIT AT H ST Jifsolde bl HANI U™ 1 104
PRl B |

9 | IR R IS 1 211

10 | Create Table 1 214

11 | B8 91 U 9 forgq R 1 204

12 |31 a1 & ¥ 31fge vfefes & 49 U 9 © 1 190

13 1 194

GUS—gq

14 | 9 Sifeardr 9 999 Sifcddl @ X | 1+1 2 3

15 | U dcf Wb H Sfie-T AR = 2 66

16 | QST TP A9 6T § ST BT JaRId HR Bl 2 39
Tefdd AT & Ig TIRYH ST &l U a9y & §
qRerd &R BT adidT fAfde Hedl 2 |

17 | ®ig ¥l & 3ffRex 1 2 147

1

18 | FITT BT U AN YHR BT HaR BaRE TadHT TIRT 2 143
PYCICR D gRT 991 T 3ifesiae ®l WH BT D ol
fopar ST 2 |

19 |19 UP It BT &1 AT &F | SIfTd Folral & Biax dl 2 163
gTefRc BYdl 8 99 Hodiudl g1eReT Bel ordr 2 |

20 | IfT UAP Wics Hdd Atomic IF QT & ol ReleH 1 2 201
INF H T |, SeTexv 1

21 | PL/SQL TUS &I GTAT & FOTIhT SUANT DML a1 2 278

SI9—INSERT, DELETE, UPDATE & SICTdd dlfoldl TR
EXECUTION & 99 fdam Sirar 2 |




22 | COMMIT Ve 214
ROLLBACK A
GRANT A
REVOKE A
23 | YO 9RT 2 261
FANHROT |
3Udre FdleT HIT
24 | Pls W IR <R g1 W 2 91—93
Gue—g
25 | ®Is & BRI 1% 79.80
BIS QT JHAT 172
26 | ®ls TI R 1% 96
12
27 | E-RUdD forg 187
28 | AS] ST &1 I T ISTEN0T 2 51—52
J1eqaT 2
91 G BT g Td SEIER0T 2 41—42
2
29 | TH TRE B Hold IodR Bl © 4 107
RIpde TR
AN IR
[SRESSEEN
J7eqaT
PICFAR JMANANST BT TIUTH 4 137
30 | 1NF, 2 NF, 3 NF &I gfshar 4 200
SR Afed FHSH WX
J7eqaT
Thel ST’ &I E-R NG 4 195







